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PROVISIONAL RESPONSE COPY OF CANDIDATE X427
Electricity Service Commission o o B R
. Ans 1. 20Hz Chasen Optian : 4
Uttar Pradesh Power Corporation Limited K2 s0MHz
(UP Government Undertaking) X3 20KHz
ummmammmgwmw.mn o'+ 20 MHz
ROLL NUMBER. __[1CS0228 = n ihy —
Participant Name: VINOD KUMAR PRAJAPATI - s : Smaon 17| eoeAon 301
Tes! Center Name: Mahaveer Institute of Technology 241 Null string () Ghoan O35
Test Date: 18/05/2016 X2 Aba
Test Time: 9:30 AM - 12:30 PM vib
‘Subject Name: ASSISTANT ENGINEER COMPUTER SC
#4 Ba
@7 Which of the following is ot true about [Pv6 addressing? i B T
a1 e i - Ans o 1 It uses 127.0.0.1 as loopback address. Ghosen Gplian :1
Ans of 1. (00001111); Chosen Option -3 Xz
22 (11110000), It supports globally unique unicast addresses.
X 3 (01010101); X 5. Ituses ::1 as loopback address.
X+ (10101010)2 X 4 It uses :: as unspecified address.
@2 The string not acceptable by the following DFA is: Quesion ID ; 966458475 e sy ronin ‘ Queston ID | 966458513
Chosen Oplian :2 Ans  of 1 Internal schema Chosen Optian : =
X 2 Conceptual schema
X 2 Extemal schema
# + Both conceptual and external schema
Ans X 10100111010 =
v 2 0111110 :': ; . Question ID : 968458455
i W 1 Linked list Chasan Optian -1
2 stack
2401111111
X 3. Queue
a3 mmmmmwwmmmmmem Question ID : 966458527 ] X+ Amay
Chasen Option :2
A c HINE Q10 Which of the following sorting algorithms s not stable? PE——
" 2. BCNF ans  of 1 Heapsort Chasen Optian 2
3. 3NF
X 2 Merge sort
X+ INF
# 3 Insertion sort
== e o Question ID ; 96E4SES0S X+ Bubble sort
Ans K110 Chosen Option :2
K27
i of 36 72012016 6:00 PM P of 36 7/20/2016 6:00 PM
Ll e b mar CQueston ID : 966458548 + . Random access memory
- Chakan lptic = 2 4 Read-write memory
Ans X1 E410
v BIE6 Q.18 Which of the following protocols uses port number 257 Question ID : 966458545
x3 E6B1 Ans x1 HTITP Chasen Optian -4
X4+ 4E19 2 POP3
9% Speti e—— Question ID : 966458428 ?;: 5}_]\”4:[1:
Ans X1 MULT Chosen Option 4
X2 MULTR1 Q.19 Which of the following esor detection techniques is based on binary division? Question ID : 066458549
K3 MULTA Ans X 1. Checksum | Chosen Oplin :2
'+ MULTRL. R2,R3 ' 2 Cyclic Redundancy Check (CRC)
== i Question ID : 966458508 3 = S
e on D i : g
Ans X 1. Both compile-time and load-time bindings ‘ Chasen Opton 14 ] # +. Two-dimensional parity check
X 2 Compile-time binding Q20 What will be output of the following C program? Guston 1h : pEBASEAE2
X 5 Load-time binding Chosen Optian : 1
i i void main() { =
+ ¢ Execution-time binding int a[]={10.20.30,40}:
intf{"%d", a[3]-2[a]):
Q44 Which of the following is a i data Question ID : 966458453 } v a[3]-2[a])
Ans x1 Al'l.’ﬂy Chosen Option -3 Ans. J1 10
X2 stack K240
= Graph X330
4. Linked list K420
Q.15 The worst-case time complexity of the binary search is: R TBeasi T Q21 What language does the gramumar S—SS/S0/11/1001 generate? Questian ID : 966458496
Ans 21 O(1) Chasen Option -2 Ans X1 Chosen Option :3
X ow Binary string 0s followed by equal number of 1s
2 O
X2
22 Ofnlogn) Binary string having equal number of 0s and 1s
v+ O(logn) ' 5 Binary string whose value is divisible by 3
Q.16 Waich of the folowing s 10t a prefi of the strng “sunOfNo™? PR <+ Binary siring whose value is divisible by 2
o x i Shosen Oatns® | oz etk e Question 1D ; 966458534
;3 sumNo Ans <1 Network layer | Chosen Optian : 4 |
3 strin, N
44 Emp;)'ﬁ: 2 (€) 2 2 Session layer
- sumOfNo
X = Data link layer
Q47 A memory which has equal aceess fime for alits locations is called: P,  +. Transport layer
Ans 1. Read only memory Chosen Optian :3
3 Q.23 Wikh ing is nof & valid way logis curcuin”|
X 2 Sequential access memory A 31, Troth table Quesiion 1D 966458415
Bof36 72002016 6:00 PM [ of 36 /2012016 6:00 PM
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X 2 Boolean expression I

Chasen Option *

4

X 5. Logic diagram
¢ Flowchart

024 Entity types that do not have key aftributes of their own are called:
Ans X 1. Identifying relationship

Question ID :
Chosen Option :

966458517
4

# 2. Strong entity types
X 3 Identifying owner
o'+ Weak entity types

Q.25 Two sets of
s WiEcCF

il dependencies E and F are 'i.fl

Question ID :
Chosen Oplian

966458525
4

X2 E'cF"
KiE'nF'=¢g
Vi g =F

Q26 Which of the
Ans X 1. PowerPC

ing is a CISC |

Question ID :
Chosen Oplion :

966458426

7 2 Motorola 88000
X3 Intel i860
'+ Intel 8080

ity e

227 e
Ans of 1 extension [

Question I
Chosen Option

1966458514

Xz arity
X 3 degree
2+ intension

928 The value of the ‘C” expression 9-4/5%2 is:
A K12

Question I
Chosen Option :

1966458443

2o
X374
K486

Q.29 Comsidering the root at level-0, miniermm susber of nodes in & binary tree of depth 4" i

A X d

Question ID
Chosen Opian -

1966458454

vad+1
K gd
Kid-1

72012016 6:00 PM
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X2 OR |

Chosen Option ¢

X 3 NAND
X+ NOR

Q.37 Which of the following algorithms allocates memory space from largest hole” |
Ans X1 Best fit

Question I
Chasen Oplion :

1 B66450499

2 Both first fit and best fit
v 5 Warst fit
7 4. First fit

Q.38 Which of the following OS1 Inyers is between Data link lyer and Transport layer”
Ans o 1. Network layer |

Question ID
Chosen Optian :

966458533

X 2 Session layer
X = Presentation layer
s Physical layer

Q39 What will be output of the following C program?

Question ID :
Chosen Opian -

#define b ++a

void main() {
int a=5;
printf{("%d", b+ b):

Ane X114
X211
X310
Vi3

Q.40 [1F = (0,1, 2, 3) is the sel of alphabes, then the mumber of elements in T2 is:
Ans 1. 256

Question ID
Chasen Option *

966458473

2. 255

327

416

Nate: For this question, discrepancy Is found in question/answer. Full b

arks is baing awarded 1o all candidates.

Ans o i anon-procedural

Question ID

1966458522
Chasen Oplion :

941 The Relational Calculus is

# 2 neither a procedural nor a non-p
X = aprocedural
2+ both a procedural and a non-procedural

pof 36

Q.30 What is 16's complement of the hexadecimal number (15A0);6?
ans 1. (EAGF)16

Question ID : 966458417
Chosen Opian :1

X2 (1560)36
V'3 (EA60) 15
K4 (0DAE)6

931 paging techniques suffers with: [
Ans o 1 internal fragmentation

Question 1D : 966458498
Chosen Optian : 1

7 2 neither internal nor extemal fragmentation
2 3 both internal and extemal fragmentations
X 4+ external fragmentation

Q.32 Wi o

A K1

X = A - BYC iy I

Question I : 966458429
Chosen Optian :2

W:
X
Ka

W -

Q33 Py Py By, By wih

= T 0 T 7 |
i T

emesEEssRs
G eEeTEEE

Question ID : 966458502
Chosen Gptian :3

i gt i i s FEFS P il S
Ans X 1§

Xzs

Va3

Xa9

0.34 Which of the following i o
Ans o 1. Medium term scheduler l

Question 1D ; 966458512
Chosen Optian :1

X 2 Both short term and long term schedulers
# 3. Short term scheduler
7+ Long term scheduler

Q.35 Which of the following two-input bogic gates is hasically s ‘modulo rwo wider?
ans of 1 XOR {

Question ID : 966458404
Chasen Optian * 1

Xz OR
X 3. XNOR
X4 AND

Q36 Which of the following is a complement ofXORgme?[
Ans o 1 XNOR

Question ID : 966458405 ]

72012016 6:00 PM
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Q42 5D
Whichofthe lirtag i comidte ey of

Ans X1 AB

Question I | 966458528
Chosen Optian : 2

v'2 ABD
X3 ABC
X+ BD

Q43 rodnces the CPU waiti dusing

Ans 1. Secondary memory

Question ID : 966458432
Chosen Optian : 3

X 2 Flash memory
' & Cache memory
X4 ROM

Q.44 In an 1N relationship type. a relationship attribute can be:
1. discarded [

Iy ity type on the N-side of

Queslion ID : 966458516
Chasen Optian -1

(ype on the 1-side of the relati L

3 mignd oy
Sl SR

2 Either (2) o (3

Ko

Vi@

Q45 What will be output of the following C program?

Question ID : 966458438
Chosen Optian : 3

void main() {

inta=2, b=3;

printf{("%d", a++ + ++b/-a);
}

Ans o1 g

Xz
X
K4

-

R T e —————t)

Ans of 1. 2560000 bytes

Q.46 _umﬂrmdm:ﬁlﬂ-\.dm_:nmiwmm-ﬁl

Question 1D ; 966458437
Chosen Option : 4

X 2. 640 bytes
7 3. 12800 bytes
2 4 1280000 bytes

QA7 A sefv exprevsion in Reltiosal Cacatn b coe et s uenatoed 10 yikd e

Ans 3 1. infinite number of tuples

Question D : 966458523
Chosen Optian :4

X 2 at least one tuple
X 5 exactly one tuple

7/20/2016 6:00 PM
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'+ finite mumber of tuples

Ans X116 bits

Q.48 mnmm-lm«nnmnmhuwm-a»-mmm[

Question ID :
Chosen Option :

p— J

X2 8 bits
W 3 16 bytes
X 4 8lytes

Q49 CMOS stands for:
Ans 1. Complex Metal-Oxide-System

Question ID
Chosen Option :

r— l

X 2 Complementary Magnetic-Oxide-System
3. Complex Metal-Oxide-Silicon
« ¢ Complementary Metal-Oxide-Silicon

tbe DL we i

Ans 1 Model-based constraints

aso MWM‘!‘HI

Question ID
Chasen Option :

— ]

' 2 Schema-based constraints
X 3. Entity integrity constraints
X + Application-based constraints

951 Which of the following is not a valid process state?
Ans X 1. Running

Question I
Chosen Oplion :

fr— ]

' 2 Swapping
X 5 Ready
X+ Waiting

Q.52 Which of the

Ans 1. Job scheduling

nol be solved usi

n--l

Question ID
Chosen Option :

—— l

2 Single source shortest path
3 0-1 Knapsack
2 4. Minimum spanning tree

53 £ (2101.72)4 = 145,625, then the missing digit on left side is:
A of12

Question ID
Chasen Option

1966458418 ]
0 |

Xz
X0
Xigq

Q.54 Which of the following strngs shows that the grammar S—+5bS b is ambignons?
Ans of 1 ababa

Question 1D :

72012016 6:00 PM
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XKz (10 [

Chosen Option ¢

Ka10+1)0+1)*
¥ (10+11)(0+1)

Q.62 Which of the following sorting algorithns has every case time complexity?
Ans 1 Insertion sort l

Question ID
Chosen Option :

Fr—— ]

# 2 Bubble sort
X 3. Quick sort
o'+ Selection sort

Qs

- o
ane 311022 I

Question ID
Chosen Option :

—— J

Xz 1024
X3 2046
1534

Q.64 I a couputer's imain iatuory liss 2048 locatices af each 52 bits, e (e 100 iesiory capacity in:
ans X 1.4 KB |
X2 8MB

Question ID
Chasen Option :

—— ]

X 4MB
v+ SKB

Q.85 The number of leaf nodes in a binary heap tree of 8191 nodes is:
Ans 1. 4095

Question ID :
Chasen Option :

Xz 1023
X3 1024
V' 4006

Q.66 The best-case time complexity of the insertion sort is:
Ans X1 Ofn log n)

Question ID
Chasen Option *

Fr—— ]

X2 0
X 5. O(log n)
v+ O@m)

Q87 The Boolean expression (A + B)(A - C) is equivalent to:
Ar K1 AB+C)

Question ID :

Chasen Option 4

=

X2 B+AC
X1 AB+C
v+ A+BC

7/20/2016 6:00 PM
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Xza I

Chasen Optian *

3 abb
4 aba

Q.55 Comsideriag B(A. B, €. D) E) i relatin scleuna, e outjt of the following SQL query b
Setect Maxi4) From R Where A < (Saiect Miu(4) From Ri; I

Ans of 1 Second highest value of A

Question ID

1966458530
Chosen Optian

2 Second lowest value of A
9 Lowest value of A
4 Highest value of A

Q.56 Which of the following is not a necessary condition for deadlock? |

Ans of 1 Preemption

Question ID

1968458509
Chosen Optian :

# 2 Mutual exclusion
X 3 Hold-and-wait
X 4 Circular wait

as?

s of 1 16 MB I

Question ID

1966458430
Chosen Optian :

X2 16KB
X3 32MB

2 416 bytes

Q.58 The Boolean expression (A + B)(AB)' is equivalent to:
Ans X1 A+AB

Question ID

:966458408
Chasen Optian

v: AB'+-AB
X31B+AB
X4 AB+AB

Q.59 Commiering five mervion AL AL A, Ad, sl AS of by $23, 303, S, dnd, o T, ispectively, e
WA

ans X1 5040 |

Question ID

1966458467
Chosen Oplian :

v 226
3 340
K333

Q.60 TCP Checksum is n

it field in TCP header used for emor detection.
A of 116

Question ID

$966458547
Chasen Optian :

K2g
564
K432

Q.61 The repiilar equession 1o represent the set of all scxings over lll]nlllwl.\mldn-:[
A 2 10+ 1)

Question ID

1966458483

72012016 6:00 PM
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A XK1

Q.68 The closure of a set of attributes. X. under a set of finctional dependency. F, m&»’
set of all attribwites appearing on

‘the fimetional

Question ID

1966458524
Chosen Optian -

X

wtafill
X

set of attributes that can functionally determine X based on F
v 2

set of attributes that are functionally determined by X based on F

w o the e side of inF

Q89 Which of the following is not a regular language?
e XK 12 | p>0)

Queston ID

1966458482
Chosen Oplian :

¥ {1 | nis prime}
X {1m0" | m.n >0}
Xepd|nz1)

Q.70 Which of the following statements about ‘Bridge’ is not correct?
Ans X1 It acts as an address filter.

Question ID

966458540
Chosen Optian ¢

Xz
It is used to connect two LANs using similar LAN protocols.

Xa

It does ot medify he coutents of the packets and does ot add anytiing to the packets.

v
Tt operates at layer-3 (Network laer) of the OST model.

Q.71 Which of the following is n proper suffix of string “totalAmount™?
Ans 1 Null string

Question ID

1968458489
Chosen Optian :

X2 total
X 3. totalAmount
« ¢ Amount

972 Which of the following is a regular language? [
Ans X1 {0 | nis perfect square}

Question ID

1966458481
Chosen Optian :

X2 (0M1° | n21}
V0™ az1)
X4 {0"1™ | m>n})

Q73 The string not acceptable by the following NFA is:

Question I : 966458477

Chasan Option :

3

Ans X1.001101

7/20/2016 6:00 PM




X2 0100111
¥ 2 1111000
X+ 01011100

Q74  conmpuate X

Ans X1 9(0)

x-u_.:u.l

Question I ; 966458463
Chosen Optian : 1

'z O(logn)
X1 Om)
X O(n”)

Q.75 Tl
sairit auliplication sl 1. I

ane X1 50

Question ID : 966458461
Chasen Option :

X260
X364
vis6

Q.76 Whichaf

g heweris ot
Ans 1 Destination address I

Question ID : 966458546
Chasen Optian :3

2 Fragment offset
# 3 Version
X+ Source address

e
armn o
[UESTERRES——"—

A X 1.16, 16

Question ID ; 966458431
Chosen Optian <=

X2824
X3 24.8
V24,32

we X1 Oflogn) |

Question ID : 966458462
Chosen Optian : 2

W2 0(n?)
X3 O(m)

X4 O(nlogn)

An:

=

K {o.m-,nx}

Question ID : 966458521
Chasen Option :1

Xz {o.7,u,n-}
s {o.x,u, - x}

X {o,®un, x}

72012016 6:00 PM
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Q.84 Which of the following statements about HTTPS is not comect? Cuestion 1D 1088458544
Ans X 1. It uses port 443 by default, Chasen Optian -3
3
It stands for Hypertext transfer protocol secure.
' 5. It encrypts data at the network level.
¢ 4 It encrypts data at the application level.
::5 Question ID : 966458448
" K_‘- . Chasen Option 4
“Visit the root; Traverse the left sub-tree; Traverse the right sub-tree
Xz
Traverse the left sub-tree; Traverse the right sub-tree; Visit the root
Xa
‘Visit the root: Traverse the right sub-tree; Traverse the left sub-tree
4
Traverse the left sub-tree; Visit the root; Traverse the right sub-tree
Q.86 I SR
and, i o fraction. Question ID | 966458421
ans of 1 8,23 Chosen Optian :1
X22.30
X824
K4.4.28
::: o Question ID : 966458520
1. Key constraint Chasen Option :3
# 2 Domain constraint
o 5 Referential integrity constraint
X 4 Entity integrity constraint
028 Which of the following DFA does not accept the string 100007 [————
Ans. 1 Chasen Oplion *2
X1 . : ‘
Start @ 0 o
1 0
'
p /)
Start @ @
0 0.1
15 of 36

7/20/2016 6:00 PM
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Q.80 What will be output of the following C program?

#defineb ++a

Question ID : 966458441
Chasen Optian :4

void main(){
char a=2689;
,,mm«w.b):
Ane 1,130
X210
X 5. 2690
126

Q81 The value of the postfix expression “7 § + 3 2 + /Mis:
s RS

Question ID : 966458450
Chosen Cptian :3

Xz 20
Vi3
Kaas

Q.82 Which of i ‘matrix of i gmph?
Ans

Question 1D : 966458446
Chosen Cptian : 4

X1

o = o =

~—ococoocee o
© = = o

o = = o
o © o o

E)

W

OO0 -0 ~0~0 0000 00 =0

-~ 00~ 0068 =0 =0 =00 =

o o -
O = O =

Q.83 G o ench.
frames. Vi many b are hers 3 Poe phyical e

ans of 116

Question I : 966458506
Chasen Optian : 2

X6
Kas
X410

72012016 6:00 PM
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Qs (
[UpTp——T— l

Ans X1 Medium term scheduler

Question 1D : 966458511
Chasen Optian :2

# 2. Short term scheduler

2 Long term scheduler

Ka

Both medium term and short term schedulers

Q.80
Ans X1 4,13 l

Question 1D ;966458507
Chosen Optian :—

V23,14
X313
Xa4.14

L . ——
ey ........uu.l
denensin

Ans X145

Quastion ID : 966458447
Chosen Optian -4

X220
X0
v 3s

Q.92 The number of components in a context free grammar is:
A RS

Queston ID ; 966458493
Chasen Opfian : 3

K23
v ENY
K42

Q.53 The nnumher of nodes of degree one in a complete binary ree of 2% nodes i
Ans 4 219..,1

Queslion I : 966458444
Chosen Optian -4

Ka2®
K%
CAR!

o -
=it |

Ans 1. Multiprogramming

Question ID : 966458510
Chasen Optian :2

2 Multiprocessing
5 Multitasking
X+ Multithreading

Q.95 The number of links in a fully-connected mesh network of N nodes is:|
Ans a1 NN+ 1)12

Question ID : 966458552
Chasen Optian : 3

Xz N
W' NIN-1)2

7/20/2016 6:00 PM
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Qg6 Mdutin s

A XK1 T(n) = 2T(w'2) ~ O(n)
Xz T(n) = T(w2) + O(n)
s T(w) =T(w2) + O(1)

¥+ T(n) =2T(w2) + O(1)

Question ID ; 966458468
Chasen Option : 4

Ans o 1. Data link layer
2 Physical layer
X 3 Transport layer
X 4. Session layer

as? mwmmmdmmmmumm-ﬂmn‘iﬂw'ltl

Question ID : 966458535
Chosen Optian :1

Ans. x1 D
X2 A
Vi
X+B

298 The class of the IP address 200.123.17.1 is: l

Question I : 966458542
Chosen Optian :3

Q.99 ‘Which of the following is not a valid property of a database transaction?

Question ID : 966458532

Ans. < 1. Durability Chasen Optian :2
¥ 2 Insulation
#< 5 Consistency
X 4 Atomicity
aio £
0 Queston ID : 966458536
ans of 1 DNS I Chasen Optian -1 ]
X 2 DHCP
X3 MIME
X+ SIP
";I"' I£L = {1. 00}, then which of the following strings does not belong to L"? e SR
Ani «1 1010 Chosen Option :1
22 mull string
3 1001
X+ 100
1705 36 7/20/2016 6:00 PM
Q.10 Which of the
7 Queston ID : 966458490
ane X (1 (digit)* | Chasen Optian -2 ]
' 2 (letter|_)(letter|digit)*
X 3 Letter(_|digit)*
X 4. digit(letter|digit)*
Q1o ‘ o, thenthe b
) ey Question ID ; 966458465
Ans o o(’]}) ‘ Chosen Optian :3 ]
Xz om))
X3 Om)
X4 O()
040 Which of the following is not the part of a compiler? Guesion 1: pssdsBadT
A X1 fic Analyzer Chasan Option :4
v 2 Linker
X 3 Lexical Analyzer
4 Code Generator
Qi o
0 b Qustion ID : 968458492
Ans X1 digit(digit)* | Chosen Option :3 ]
Xz (digit)”
v 2 O(digit)*
X 4 0(digit)”
a1" e = g s Question ID 966458435
as X1 gtaata Chosen Optian :4
Ko g+
K +a
v an*a+
an
F Question ID : 966458451
Ane X 1. Postorder | Chosan Qpticn :3 ]
X2 Level-order
v & Inorder
X+ Preorder
S0 Wil s faking roerming syt Question ID ;966458504
Ans 1. MS-DOS
19 0F 36 7/20/2016 6:00 PM
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g = Question I[3 : 966458476
Chasen Optian ;1

Ans of 1. {w|whas3n1's,n> 0}

Kz (0% | m n >1)

K o¥mn | m > 0)

X4 {w|whas3nl's.n>1)}
n',“ =i " TI Question I : 966458435 ]
Ao Cache memory Chasen Optian : 1

# 2 Magnetic tape

# 9 Hard disk

2 4. Flash memory

Question I : 966458503
Chasen Optian : 3

n:ll g P f

ans X 1. FCFS I
X2 SIF
+ = Round-Robin

4 Priority scheduling

Q.10 Consider n binary tree whose Inosder and Preorder traversals are given below:
5 Inorder©.17.83,6
Preonder: 8,2.9,7.3.6

Question I : 966458452
Chosen Option : 2

“What will be the Postorder traversal of the nodes”
Ans X1.2,9.7,6,8,3
¥29.7.2,6.3.8
X59,7.2,6,8.3
49.2.7.6.3.8

Q.10 A finction f{n) is O(a(n)) if there exists constants ¢ and N such that:
]

Ans 1 f(n) > cg(n) foralln =N

Question ID : 966458469
Chosen Optian :2

W2 f(n) <cg(n) foralln>N
X3 f(n)<cg(n) foralln <N
24 f(n)=cgn) foralln <N

72012016 6:00 PM

ooras

¥ 2 Unix [

Chosen Cption :3

X 3. Windows
X+ MacOS X

an mammpu.maummmmmx-.mr[
4

ans of 1 E—E=T

Question I : 966458494
Chosen Cptian :4

X2 E—E-E
K3 T—0(1]23145/6/7(89
X+ E=ETT

17 s pce b v i

Ans X 1. Gateway

Qi n-mu-rml

Question ID : 966458550
Chosen Optian <4

22 Bridge
3 Hub
¢ Firewall

u.l11 ‘Which of the following Boolean Algebra laws is an idempotent law?

Ane X1 (A+B)y=AB

Question I ;966458410
Chosen Optian :2

vV2A+A=A
X3 A+B=B+A
X4 (AB) =A'+B’

Q.11 Which of the following statements about IPSec is not correct?
7

Ans o 1 It encrypts data at the application level.

Question D : 966458543
Chosen Optian *4

# 2 Any port can be used,
75 All applications data are encrypted.
7< 4 It encrypts data at the network level.

g Mlionsl Algete expression

Q.11 Comter RiA, B, . D, Flls
BT BI% B O |

Question ID : 966458529
Chosen Optian <~

Ans X1 §
Xz
v 3
K

-l

Q.11 The nommalized representation of the floating-point binary nunber (1010.1011); is:
L]

Question 1D : 966458420
Chosen Option -4

A= XK1 (0.10101011), X 24
Xz (1010.1011); X 2°

7/20/2016 6:00 PM
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X3 (1010101.1) % 27
¥4 (10101011 X 22

042 The range of n-bit 2's complement signed integer is: l
A K vl_pro+2mloy

Question I : 966458419
Chosen Option 14

Kz ool g0+
K-l g 4 onel
Vi udygsonl_y

°-11? Wchufﬂnﬁuuawingisammpnmmalgomhm?l
Ans X 1. Heap sort

Question D : 966458459
Chosen Optian :2

' = Radix sort
X 3 Merge sort
# 4 Quick sort

@42 Which of e fllowiag gramsars defioes he lusgungs |ﬂ:‘\nzll“|

Anz of 1 S—aSblab

Question D : 966458486
Chosen Optian 11

X 2 S—bSajab
X 5 S—aSb|ba
X+ S—aSbjalb

Q.12 Which of the s 1 I
k]

Ans ¢4 Graph

Question I : 866458456
Chosen Option -4

# 2 Tree
& * Linked list
'+ Hash table

212 If L = {00, 01, 10} and M = {g, 010}, then LM is: |
Ans of 1 {00, 01, 10, 00010, 01010, 10010}

Question ID : 966458479
Chosen Optian : 1

X 2 {00, 01, 10, 00010, 01010, 10011}
X s {00.01, 10, 0011. 01010, 10010}
K

{€. 00, 01, 10, 010}, where ¢ represents null string

Q.12 A full binary subtractor has fapur lines and mpnlna[
5

Ans X421

Question I : 966458414
Chosen Option :3

X222

72012016 6:00 PM
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Q13 mmhmmm,—un-ammmmmq-umﬁvl
2

Ans X1 Polling

Question ID : 966458425
Chosen Optian -3

2 Interrupt mode
¥ 3 DMA mode
X + Programmed mode

943 What will be output of the following C program?

Question I ;966458439
Chosen Oplian :2

void main(){
int a=0100;
printf("%x", a):

Ans of 140
X264
Xag
4 100

D:J Mo{mmhmwm-rfwm“m\m?l
Ans of 1 XOR

Question I : 966458403
Chosen Option 11

X2 AND
3 XNOR
X+« NOR

Q13 mmd-wmwﬂ-mn!mﬁmm[xylnﬂn;mw'nl
5

Ans 2 yhyy

Question ID : 966458484
Chosen Oplian -4

Kz (x=y)tyyt
K xtyt
v y)tyy

Q.13 The degree (or arify) of  relation s the wasber of u!ihmm[
[]

ans X 1. weak entities

Question I ; 966458518
Chasen Option :4

X2 tuples
3. attributes
X 4 strong entities

Q.13 ‘Which of the following Boolean Algebra laws is an Absorption law?
T

A o1 A(A+B)=A

Quastion ID : 966458411
Chosen Oplian :3

K2 (A+B)y=AB
KiAa+l=1

B2 of 36

W32

XK+l
042 PSTN is an example of: Questian ID ;966458537
Ans X 1. Message switching | Seemoels l
2 2 Cell switching
' . Circnit switching
2 +. Packet switching
0.712 m:«.mm.-- ! Question ID : 966458406 ]
Ans 3¢+ If either A or B is false, then Q is false I Chesen Bptin 1

X 2 If either A or B is true, then Q is true
3 If either A or B is true, then Q is false
o ¢ If either A or B is false, then Q is true

Q.12 Which of belougs o vi
8

A X 1. ADDRL A

Question 1D : 966458427
Chosen Option : 4

X2 ADD
X3 SUBRILR2
v+ ADD B

Q12 m‘n-ru-n-nwl
9

.Intx1

Question I : 966458449
Chosen Optian -3

Xe
v 5
K4

L TS I S - 3

ui:“ Which of the following is a Class-C default subnet mask?
ans K1 255.255.0.0

Question (D : 966458541
Chosen Option :2

o2 2552552550
20000
X 4255000

Q.13 Anatiributeof n-uul
1

Ans 1. Derived attribute

Queslion ID : 966458526
Chasen Optian - 4

#< 2 Nonprime attribute
7 3. Nested relation
'+ Prime attribute

72012016 6:00 PM
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K A0=0

l!..ﬂ A standard combinational logic decoder is an n-to-m decoder, where:

As of 1 mgon

Question (D : 966458416
Chosen Optian - 1

Kz ogmaon
XKsm=n
Xim>2m»

a3 Mdhﬂbﬂmdﬁhwiﬂdﬂuhpﬂmﬂyaﬁdmmh&'l
]

Ans K 1. Clustering index

Queslion ID : 966458531
Chasen Optian : 2

2 Primary index
X 5 Secondary index
< + Both secondary and clustering indexes

Q.14 T [
" |

Ans X 1. Cycle time

Question ID : 066458434
Chosen Optian : 3

X 2 Settling time
¥ 2 Access time
X 4+ Latency

Q.14 A full binary ndder hias input lines and wwunal
1

Ans WA 31

Question 1D : 966458413
Chosen Optian :3

X221
V3.2
xe22

914 The sum of the octal numbers (21056)g and (76232)g u[
Ans o 1 (117310)g

Question 10 : 966458422
Chosen Optian :1

X2 (117311)g
X3 (317311)
X+ (317310)g

“5“ The value of 5(qg. 011000) for the following NFA is:l

Queston D : 9EE458478
Chosen Optian -4

01
2\
Ane K1 {qo}
Xz {2}
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v'5 {90 q1. @}
X4 {g0- 92}

a4
4

Ans.

In R dingrae, o cardinliy oo of 8 bicary relmionship speciie
seltionip atinces that n enty can participae i

T

7. minimum

Question 1D ;
Chasen Option :

BEB45B515
3

X2 exact
¥ 9 maximum
7 + average

Q14
5

Ans.

Which
secton

X 1. Bounded waiting |

Question ID :
Chasen Option :

966458501
3

# 2 Mutual exclusion
¥ = Starvation

X + Progress

Q.14

Which of the following is not true about [Pv4 addressing?
X

Question 1D
Chasen Option :

It supports globally unique “public™ addresses.
X 2 Ituses 0.0.0.0 as unspecified address.
5 It uses 127.0.0.1 as loopback address.
'+ It uses ::1 as loopback address.

a4
7

Ans

=

X1 Tree

Question ID
Chosen Optian :

966458457

X2 stack
'3 Queue
X+ Linked list

Which of i

XK (A+BYAB)

Question I :
Chosen Oplian

X 2 (AB)YAB)
X3 (ABYA' +B)
W1 (A+B)AB)'

Q14
L]

Ans.

Which af the

X110

=

Question ID
Chasen Option ©

| BEB4584T4

CESVIT
P ST
X101

7/20/2016 6:00 PM
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Ans.

T B b D" el 10 B

X1 Aunt

i, who b brothar of ‘M, G s the oo of ¥, i e v 0f 1, -nri.--l

Question ID
Chasen Optian ©

# 2 Sister-in-law
v & Niece
& 4 Cousin

Norts
) gl of 45" T which)

[
eacthon v e g el

& 1. North-West

Question ID
Chosen Optian

:DE6458569

X2 South
X 3 South-East
v+ South-West

Qi

Find the missing number from the given altemnatives.

8 14 13

Question ID
Chasen Option :

1966458570

17 18 26

3 16 ?

X136
vz 3s
X328
K38

aio
Ans

2553 sl . How it

Wi100g

l

Question ID
Chosen Option :

Xz80g
X:00g
Xellog

Ans.

Take the given statements as true, di ing ci ¢ known
facts, and decide which of the conclusions Jogically follows from
the statements.

Question ID

1966458572

Chosen Option : 2

1 Allcats are goats.
2. Some goats are dogs.
3. All dogs are tigers.

1 Sm:lr tigers are cats,

I Some tigers are goats.

M. Some dogs are cats.
7 1. Only conclusion I follows.
2 Only conclusion II follows.
23 Only I and III follow.

7+ Only II and III follow.

7/20/2016 6:00 PM
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Q.15 o mmmy e il b conupuid o desemnie the e f Cy g v aad oo g
> I

Ans of 1

Questian ID
Chosen Oplian

966458464
4

xa

89
X200
45
K d6

Ans X1

Q1 Thess AP if -nchl

Question ID

Chosen Optian ¢

966458562

Xz
Xa
W

£2¢%8

Q.2 What s related 1o TLoyalry” in the same way as ‘Truthfukness” is related to Liar'
Ans X1 Faithful l

Question ID

:DEB45B8563
Chosen Optian :

2 Traitor
X3 Citizen
X+ Worker

5 pama
a3 hen fise the mmber of %9 paine oy I

Ans K 1. 200

Question ID

966458554
Chosen Optian ©

Kz 330
X5 360
V' 280

QA4 ifone of

Ans X1 4

-9+ k= 0ind, e wh

Queston ID

1966458557
Chosen Optian :

Xz =2
X2
V4

[ —

Aos K 1. 240

Q.5 Amib Band Amdc I

Question ID

1966458560
Chosen Oplian :

V248
X980
K4 120

- R 160 ami 108, P e e
a6
o e, |

ans of 1 10%

Question 1D :
Chasen Optian ©

Kz 12%
X315%
X 8%

psoras

Q.12 Choose one munber which is similar to the numbers in the given set.

Given Set: [245, 537, 724]

Question ID

1966458566
Chosen Oplian ©

Ans 1. 229
2 436
s 612

4 214

Note: For this question, discrepancy is found in question/answer, Full bt
arks Is being awarded 1o all candidates

el I

ane 1. EBLPTT

Question 10

1966458567
Chasen Optian :

2 GZNNVR
3. SUOMAF
4. EZLNTR

Note: For this question. discrapancy is found in question/answer. Full M
arks is being awardad {0 sll candidates,

Ans X1 3
Vs

Q.14 The ratio of two numbsers is 6 : 7 and their LCM is 210, FMM!!(‘EI

Question D :
Chasen Optian *

966458553

Xag
He2

1 e oy € e

Ans X160 min

1

Question ID

966458559
Chasen Optian *

X2 65 min
¥ 5 56 min
24 50 min

Q.16 1. K. L. M and N are five friends. ‘)" is shorter than K" but taller
than “N*. *L" is the tallest. *M" is shorter than ‘K" and taller than *J°,
Height wise who is in the middle having two friends miler and rwo
friends shorter than him/her”

Question ID

966458565
Chasen Optian *

ans of 1M
Xz2J
KK
KaN

.17 Do e 1
s v |

Ans X1 140%

Question ID

1968458556
Chosen Oplian :

X2 120%
v 130%
X4 110%




218 ik x | Question I : 968458561 | v Secretary General
Ans =n Opian ©
* K16yi0m Erosen Gpn 4 @3 Which parts of Ludia were ot ceded t0 the Burmsse by the British in 18267/
Question D ; 966458583
XK210y5 m Ans X 1. Assam, Meghalaya and Manipur [ Chasen Option - J
X3 5yT0m X 2 Assam, Nagaland and Manipur
¥ 4106 m + = Cachar, Assam and Jaintia
016 kil e R vk 7 4+ Cachar, Jaintia and Tripura
AT Question ID ; 96E45BST1
i I Chosen Option :2 ‘ Qs . e
Aol i Question D ; 966458585
v O Ans 1. Aftica and Europe Ghosen Oplian ;3
X 2 Asia and Europe
'3 Asia and Africa
Xz O O O <+ Africa and Antarctica
Q.5 Wit is the lenn that i camol
Aris: - % Question D : 966458592
e X1 Assymmetric coding | Chosen Optian : 1 |
v 2 Hashing
X = Symmetric coding
X + Password protection
X 2% What is the average salinity of sea water? Questian 1D 966458579
ans X139 Chasen Optian :3
V' 3.50%
Q20 Seject the related number from the given alternatives. Gisestion I; paSAcRBEA K1 1.50%
16:56::22:7 Chasen Option : 4 Kt 4.50%
for K154 Which was Indi's fint
X2 110 :'; x“‘ : Question 1D ; 966458589
X366 1 Snapdeal Chosen Oplian : =
v X 2 Shop Clues
X 3 Flipkart
@1 From which material is radium obtained? Question ID : 966458580 + ¢ Infibeam
Ans X1 Sodium Chasen Optian < -
X 2 Granite @ What was the Tripitaka? Questian ID ; 966458562
X3 Sand Ans X 1. Collection of stories about Dhamma Ehiosen Oslich ==
V¢ Pitchblende xe
Teachings of Mahavira on the conduct of the people
Q.2 Which post in e Ui Naions will e appoties by public irberssen of conibaes s fhe fisd e’ o e
i e T - Ch;u:s;::‘.famm ] §3 Religious book of the Zoroastrians
Direc UNE! 4
# 2 Chairman of the UNICEF Teachings of the Buddha as told to Ananda and Vinaya
2< 3 Chairman of the Security Council
boorie 7202016 6:00 PM PO of 36 7/20/2016 6:00 PM
:° m;.!:‘nmmln:;ccuuﬂ: ICed iy W Gl 20 Question D ; 966458586 ] !&“..Fﬂﬁ’ﬂmﬁ“mmﬁm” A
" West 28 n:
Xz il L — i Questian ID ; 966458573
England on 1D :
43 Ans 1. Ministry of Agriculture { Chasen Optian : 4 ]
24 St AT « 2 Ministry of Rural development
K
a1 i e —— Ministry of Human Resources Development
Ans X 1. Cyrus Mistry : e
L Chosan Option : 3 2 + Ministry of Industry and Commerce
o i
" Q.17 Which animal was the maszot of the 2016 South Asian Games held in Indin?
' Mukesh Ambani e ks Queston 10966458587
#+ Ratan Tata v Chosen Optian -4
# 2 Peacock
Q14 What is special about the face of the Moan not visible from Earth? PP— X2 Lion
Ans K 1. More depressions ’ Chosen Cptian 4 l x4 Tiger
' 2 Fewer craters Q.18 i i
s High mountains 1% Why is sulphur added to cooking gas? ’ Ch::es:;vn.m::sﬂﬂiﬂ J
Ans. n Option :
X 4 Ice filled craters ?X(L Toproeakii
2 Mnc
Q.12 Tripurn has Jeased basdwidth from which country in exchange for electricity? I et
Question I : B664SBSTS v 5 To detect leakage
Ans X1 Myanmar Chasen Option : 2
o = Baigludest 2+ To prevent leakage
X 5 Nepal 919 Which is the oldest Children's magazine in India? Questian ID ; 966458576
X 4 China ane of 1 Mulanche Masik Chasen Optian : 3
1013, Al e W e Foren s e Ut N, s Bl ke b s X 2 Children's world
Ans X 1 54th c;‘;‘g‘:ﬁj‘ i ] 3 Chandamama
Xz119th X 4 Tinkle
X 3.20th Q.20 What is the aim of the "Nai Manzil” scheme Innnched by the Unioa Goverment?
W' 22th A o1 I Ch::as;:hm o664sBS7T l
n Optian : -
For livelihood and skill training in embroidery,
Q.14 From where will the Europenn Ariane 6 space rocket be launchied i 20207 i B e computer IT. Touristn. ﬂmw:‘wsmdptmnm‘n;
Ans of 1 French Guiana . Xz
X FE Chean O To train masons for construction of houses, roads, tanks and repair
- Framce of public buildings in rural areas
X 5 Angola e
%+ Germias To give loans for starting skill development centres in schools in
¥ sural areas of districts with low literacy rates
915 Which country does not grant birthright citizenship? P —— To give lowss to women's self-help groups for startip in food
Ans 1 [1S.A Chasen Option -4 processing, embroidery and plumbing
2. South Africa
s India Q1 TR A A S S R W R S e Question 1D : 966458600
W w3 T W A b s
i S - ; Chasen Option : 1
e
Blofi6 7202016 6:00 PM B2 of 36 7/20/2016 6:00 PM
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Comprehension:

farafaftm neziy @ ofee st 33 o Al wat & 7 3o T feew giaw

A HWA vF qou-efaw w1 R, SEd 970w qO A e deee & e
AF A F FOT ¥ ¥W F # o R afee qu s B # oo g e
¥ & e dewfia S i) S sfea @ 5 awet @ e Rufy o
TR e e e, e o et & ar A Rt & w@r w s
AT T ST femm ofr & A9 A & FpT ge T fndwar F wfiere oF aw=t & o
SeAsTa S f w8 At @) &, 3R ot @ oeafe a RefRe @ osEe &
7t fawan s w7 WY W we § T E wee s F @ e s Y F
HRATE ¥ oRERar #1 FHF A A F 6w Tew N g9 wew W owar & v e &

SubQuestion No : 2

Q.2 Fwsfiam # gAhy R e kR e b Question ID : 966458594
Ans X\ HEATASAAS Ghosan Option :4

X gddes

X3 et

v TR

Comprahension:

Fefafts megiy # 9few st 3w o s o & v s @ ey gt

WERAT WA U I w1 §, TEd Sl I # e aee & e
SE JA-gE A OREOT ¥ W F # o e ot aw s et @ o swd e
= & R dewfya Fr oy g afFe # 3F awt & gy w
FEfaTEs e wer wrfye, S widr @ snet # o A Regmet & @ & s
T AR R o A A A & T g T Rndaer @ wfiere 6wt & e
SeAsTa Sfesr fr w0 A @) &, 39 ot @ geafe aur RefE W s &
i Trewa| 3w 7 v W T § TR A e e # @ e S R
HRETE ¥ foRertar &1 WHF AN SR W w53 AR g wew W wE & B e &)

SubQuestion No : 3
2 forerar me= k- ?I Question ID : 966458598
s 21 EBrr . Chosen Option -2

v BT + e

Ko e + @

T120/2016 6:00
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Ko+

Comprehension:

ferafafle 7o & ofew v 3w o i w78 seR e e gfe

A HEU v oI-afAT 1 R, SEd Sl ga WA g & e
SE T A OFEOT ¥ W F # o e ot aw s et @ o s e
2 & v demfim s o) oww afEe @ sa gt gy ey o
AR AR S e, S i wa et & ar A Rt & g @ o
T AR R o A A A & T g T RndEer s 6wt & o
Sersa afe # w2 i O 7, sa offer @ oeafae o RefEE o woamm &
af T 3 wF Y W wder § TR AR mea s # | e S e &
A § FoReTar &1 WHF AN w F A IAW AT §H wew W we & v e &
‘SubQuestion No : 4
O s F weE R FE T 7
e XK Fra-fr i
X e & W@ F e
X o v 2 w0 S
v feEr / FET w
‘Comprehension:

Tfafem mez # sfee i 3w s et & 7 s @ e g

Question [0 : 966458597
Chosen Option -1

A HHUE v quI-efE w1 R, BEd wo i qO A A g & e
SEE JEA-GE A F=T ¥ 59w A R fmeh afee qur s A A o gmd aner
o F T SeREa w TR S wies # 39 aear # e Ry e
R A we ik, S i q et # o & Regmet # @ 5 e
& R ST R oy A A # & we g T ke F AT o awt & o
SeAsTE i fr w78 @ &, 3 afee Fr oeafae aw e e o osEe &
A e 39 wF wE o Foer § R WA s & @ NS wREe OF
AT ¥ foear 1 wHE Anr w1 & @9 337 A6 5 wew # 6 F e e )
SubQuestion No : §

98 gt #r g TRy @ Fwor @ B2
A ¥ g Tt E A 7 e
V2 FeEt @ e T A

X3 Fra-far 1 sEEE 7 Fe

X« Taezmert &7 gy &

Guestion D) - 966458596
Chesen Option :2

T120/2016 6:00
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Comprehension:

Tefafem mem # 9fee i 3w s et & 7 s @ e g

WERAT A v I w1 §, SEd Sl g A aEe & e
S QA-GE W FeOT § 5w F o R wfye qur s B oo swe e
¥ & R dewfia s o) S wfe @ 5 awet @ e vy o
R o e ke, S o st & ar A Rt & @ w o
AT T sy femm o @ A A & FE ge T fdEar F wfiere oF aw=t & o
SR Siar it = a8 @ #, s oft # oeafre A fefie @ W s &
7 el ¥ 7 wE W Faed ¢ e e s # @ W w1 OF
HET ¥ e 1 wHE Anr w1 w1 A% 337 A6 §W wew @ 6 F e e &)

SubQuestion No : §

28 et 7 @ IR & W A
K TR § UE: Rl f

X2 FTE T gE & aer we

v o Fiifs ¥ 3o fiffe i sSEe §
X it 7 R

Question ID : 966458595
Chosen Option -3

Chosen Opion -3

Q7 o & s g FT W & R s geen =
A XK o ot Hi e {
Xz T F gE 9=
Vi T 9T FFE s
X FH F A g

Question ID : 966456602 ]

M awaEEI

99 T F Wil 9 & A@as w1 g
R

v i

XK wrAe

X4 HTET

Question I : 966458601
Chosen Oplian :2

Q9 oftum wfie =W w7 WY W I S T STOE AR w7
MK mF et aw aE ‘
2 gty wEE e gfear

Ko gRE F1g, W IHE F A9

Question ID : 066458603
Chasan Option : 2
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X wh Al 9 7w

o1 R e # ¥ v v & T
A of . yEnieE

X SEfE

7o R

X Rt

Queston ID ; 966458599
Chasen Optian -1
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